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Biên soạn bởi cô Nguyễn Quỳnh Trang 

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs 

from the other three in pronunciation in each of the following questions. 

Question 1. A. sign   B. minor   C. rival   D. trivial 

Question 2. A. genuine  B. geneticist   C. guarantee   D. generate  

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three 

in the position of primary stress in each of the following questions. 

Question 3. A. engineer B. understand  C. benefit  D. Vietnamese 

Question 4. A. applicant B. uniform  C. yesterday  D. employment 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction 

in the each of following questions. 

Question 5. I would rather that (A) they do not travel (B) during the bad (C) weather, but they insist that 

they must return (D) home today. 

Question 6. The man, of whom the (A) red car is parked (B) in front of (C) our house, is a famous doctor 

(D) in this town. 

Question 7. The (A) first laser is made (B) by an American scientist called (C) Theodore Maiman working 

(D) in California in 1960. 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the 

following questions. 

Question 8. The boy did his homework ______. 

 A. by himself   B. his own self C. on himself  D. by his own 

Question 9. Peter’s got so ______ to opera that it has become a constant companion of his life. 

  A. used to listening  B. used to listen  C. used in listening D. use to listen 

Question 10. “Do you mind if I use your car for a few days?” - B: “______” 
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 A. It's up to you.    B. Not at all.   

C. You're welcomed.    D.Welcome you. 

Question 11. ______ being tired, I went for a picnic with my family. 

  A. That   B. Since   C. Although   D. Despite 

Question 12. Preparing for a job interview can be very ______. 

 A. stress  B. stressful  C. stressed  D. stressing 

Question 13. This knife is very blunt. It needs ______. 

  A. sharpeningly  B. sharpen   C. sharpening   D. sharply 

Question 14. Not until the end of the 19
th

 century ______ become a scientific discipline. 

 A. plant breeding has    B. did plant breeding  

C. plant breeding had    D. has plant breeding 

Question 15. This road, ______, is narrow and winding. 

 A. which the two villages are joined  B. which the two villages are joining 

 C. which joins the two villages  D. joins the two villages 

Question 16. I am going to ______ my dress dry- cleaned. 

 A. make  B. send  C. get   D. take 

Question 17. She is very absent-minded: she ______ her cell phone three times! 

 A. has lost  B. loses  C. was losing  D. had lost 

Question 18. “How many pages ______ so far?” – “Ten”. 

A. do you study     B. did you study 

C. have you studied     D. had you studied 

Question 19. He is unhappy because his parents do not ______ very well. 

 A. get over  B. get off  C. get on  D. get away 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete 

each of the following exchanges. 

Question 20. “You’ve passed your driving test. Congratulations!” – “______” 

 A. Never mind.    B. I’m glad you like it. 

 C. Thank you .    D. Not at all. 
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Question 21. “Thank you very much for telling me the way to Hanoi.” – “______” 

 A. That sounds great.    B. You’re welcome. 

 C. That’s fine.     D. Same to you. 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the 

underlined word(s) in each of the following questions. 

Question 22. The last week of classes is always very busy because students are taking examinations, 

making applications to the University, and extending their visas. 

A. hectic   B. eccentric    C. fanatic   D. prolific 

Question 23. The drought was finally over as fall brought in some welcome rain. 

A. heat   B. harvest    C. summer   D. aridity 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the 

underlined word(s) in each of the following questions. 

Question 24. The long-dormant volcano has recently shown signs of erupting.  

A. clever   B. active   C. dreamy   D. invisible 

Question 25. I know I've got to deal with the problem at some point – I just procrastinate. 

A. lengthen   B. soothe   C. hurry   D. demolish 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to 

each of the following questions. 

Question 26. The baby has been giving his parents a lot of sleepless nights lately. 

A. The baby has been sleeping well lately. 

B. The baby’ parents have had to wake him often recently. 

C. The baby has been waking up his parents often lately. 

D. The baby’s parents have had to sleep at different times recently. 

Question 27. “Why didn’t you join your friends on the trip?” she asked. 

A. She asked me why I didn’t join her friends on the trip. 

B. She wanted to know why I hadn’t joined my friends on the trip. 

C. She asked for the reason I hadn’t joined my friends on the trip. 

D. She asked me why didn’t I join my friends on the trip. 
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Question 28. I have not seen a more wonderful building anywhere else. 

A. Nowhere else have I seen a more wonderful building. 

B. Nowhere I have seen a more wonderful building. 

C. Anywhere else haven’t I seen a more wonderful building. 

D. Anywhere have I not seen a more wonderful building else 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair 

of sentences in the following questions. 

Question 29. If it hadn’t been for his carelessness, we would have finished the work. 

A. He was careless because we hadn’t finished the work. 

B. If he was careful, we would finish the work. 

C. If he had been more careful, we would have completed the work. 

D. Because he wasn’t careless, we didn’t finish the work. 

Question 30. “Cigarette?”, he asked. “ No, thanks.” I said. 
A. He asked for a cigarette, and I immediately refused. 
B. He mentioned a cigarette, so I thanked him. 
C. He offered me a cigarette, but I promptly declined. 
D. He asked if I was smoking, and I denied at once. 

 

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct word or phrase that best fits each of the numbered blanks from 31 to 35. 

Crime, as we are all aware, has been a growing problem all over the world in the last thirty years. 

But we are not ______(31) against crime. Much is being done to reverse the trend. You can play a part in 

it. The first step towards preventing crime is understanding its nature. Most crime is against property, not 

______(32) and most is not carried out by professionals; nor is it carefully planned. Property crime 

______(33) on the easy opportunity. They are often committed by adolescents and young men, the 

majority of whom stop offending as they grow older – the ______(34) age for offending is fifteen. Also, 

and not surprisingly, the risk of being a victim of crime varies greatly depending on where you live. This 

______(35) by criminals on the easy opportunity is the key to much crime prevention. 

Question 31. A. unprepared  B. weak   C. powerless   D. hopeless 

Question 32. A. the public  B. residents   C. the victim   D. citizens 

Question 33. A. develop   B. happen   C. increase   D. thrive 

Question 34. A. top    B. maximum   C. peak   D. major 
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Question 35. A. seizing  B. awareness  C. reliance   D. taking 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct answer to each of the questions from 36 to 42. 

Back in 1853, at the age of 24, Levi Strauss opened a west coast branch of his brother's dry goods 

business in New York. Over the next twenty years, he built his business into a lucrative operation. 

One of Levi's customers was a tailor by the name of Jacob Davis. Originally from Latvia, Jacob 

lived in Reno, Nevada, and regularly purchased bolts of cloth from Levi Strauss & Co. Among Jacob's 

customers was a man who kept ripping the pockets on the pants that Jacob made for him. Jacob tried to 

find a way to strengthen his customer's pants when, one day, it finally occurred to him. He decided to put 

metal rivets on the pocket corners and at the base of the button fly. It worked and the pants became an 

instant success. 

Jacob knew he had discovered something new and worried that someone might steal his idea. That's 

why he decided to apply for a patent, but he didn't have the $68 that was required for the paperwork. So, he 

turned to Levi Strauss. He wrote him a letter suggesting that they hold the patent together. Being the 

businessman that he was, Strauss agreed immediately seeing the potential for this new product. So, on May 

20, 1873, the two men received patent number 139,121 from the US Patent and Trademark Office and went 

into business together. That was the day blue jeans were born. Who would have thought back then that 

denim, thread and a little metal would become the most popular clothing product in the world and it's all 

thanks to two men - Levi Strauss and Jacob Davis. 

Question 36. According to the passage, why did Jacob write to Levi? 

A. He didn't have the necessary funds to get a patent. 

B. He didn't know how to apply for a patent. 

C. He had no one else to turn to. 

D. He knew Levi had the right connections. 

Question 37. Which of the following titles best summarizes the content of the passage? 

A. The Beginning of a Successful Partnership 

B. The History of Jeans 

C. How Jeans Were Invented 

D. The Lives of Levi Strauss and Jacob Davis 

Question 38. According to the passage, what happened in 1853? 

A. Levi set up a business with his brother. 

B. Levi moved to the west coast. 

C. Levi became a successful businessman. 

D. Levi started working on his own. 
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Question 39. What is true about Jacob Davis? 

A. He was Levi's friend. 

B. He was Levi's customer in Latvia. 

C. He was Levi's business partner. 

D. He was Levi's tailor. 

Question 40. Why did Jacob put metal rivets on the pants he made? 

A. Because his customers asked for it. 

B. Because he wanted to prevent something from happening. 

C. Because it was fashionable. 

D. Because he wanted to do something different. 

Question 41. Why did Levi accept Jacob's offer? 

A. because he knew it would pay off 

B. because his business was in trouble 

C. because he was looking to expand his business 

D. because Jacob was a good customer 

Question 42. In 1873, Levi and Jacob ______. 

A. founded their first company 

B. applied for a patent number 

C. made their first blue jeans 

D. got their first customers 

 

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct answer to each of the questions from 43 to 50. 

If we took a look at how people in Europe communicated just one hundred years ago, we would be 

very surprised to find out that English was hardly used outside the United Kingdom. The language most 

commonly used between people of different nationalities, and particularly the aristocracy, was French. In 

fact, French was the language of diplomacy, culture and education. However, that is not the case 

nowadays. English has replaced French as the international language of communication. Today there are 

more people who speak English as a second language than people who speak it as a first language. 
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There are many reasons why English has become the language of international communication. 

Britain's colonization of many parts of the world had something to do with it, but it is mainly due to 

America's rise to the position of major world power. This helped spread popular American culture 

throughout the world bringing the language with it. 

But is it good that English has spread to all parts of the world so quickly? Language specialists 

seem to be divided over this issue. There are those who claim that it is important to have a language that 

the people in our increasingly globalized world have in common. According to others, English is 

associated with a particular culture and therefore promotes that culture at the expense of others. Linguists 

have suggested "Esperanto", an artificially put-together language, as a solution to international 

communication problems but without success. So, English will continue being the world language until 

some other language, maybe Chinese, which is the most widely-spoken native language in the world, takes 

over as the world's international language instead of English. 

 

Question 43. According to the passage, a century ago ______. 

A. educated people throughout Europe spoke English 

B. foreign travelers to England spoke only French 

C. French was much more popular than English 

D. only the French aristocracy could speak English 

Question 44. What is chiefly responsible for the growth in popularity of English? 

A. Britain's becoming an international power. 

B. The French losing many colonies. 

C. America's becoming powerful. 

D. The development of American culture. 

Question 45. What is meant by “the language of diplomacy” in paragraph 1? 

A. The language used by ordinary people. 

B. The language used by the English and the French. 

C. The language used by the aristocracy. 

D. The language used by governments. 

 

Question 46. What is true according to the passage? 

A. The experts don't like Esperanto. 

B. Esperanto is difficult to learn. 
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C. Esperanto is not a natural language 

D. Esperanto is becoming more and more popular. 

 

Question 47. The experts' opinion on the spread of English is ______. 

A. split   B. positive   C. negative   D. undecided 

 

Question 48. The author believes that ______. 

A. English is easier to learn than Chinese 

B. English will probably be replaced as an international language 

C. Chinese is going to be the next language of international communication 

D. Chinese is growing in popularity among non-native speakers 

 

Question 49. These days ______. 

A. French is the language of diplomacy 

B. more non-natives speak English than natives 

C. more people speak French than English 

D. French is a dying language 

 

Question 50. What would be a good title for this passage? 

A. English; Past, Present and Future 

B. English as an international Language 

C. English language means English culture 

D. English: a difficult language to learn 

 

 

 

 

 



 GV:  Nguyễn Quỳnh Trang 
   Facebook: 

www.facebook.com/lopcoquynhtrang 

 

 

 9 Để học offline với cô Trang gọi: 0942323701 

 

ĐÁP ÁN 

1. D 

2. C 

3. C 

4. D 

5. B 

6. A 

7. A 

8. A 

9. A 

10. B 

11. D 

12. B 

13. C 

14. B 

15. C 

16. C 

17. A 

18. C 

19. C 

20. C 

21. B 

22. A 

23. D 

24. B 

25. C 

26. C 

27. B 

28. A 

29. B 

30. C 

31. C 

32. A 

33. D 

34. C 

35. C 

36. A 

37. C 

38. D 

39. C 

40. B 

41. A 

42. A 

43. C 

44. C 

45. D 

46. C 

47. A 

48. B 

49. B 

50. B 

 

ĐÁP ÁN & GIẢI THÍCH 

 

1. D 

Từ “trivial” có phần gạch chân phát âm là /i/ 

Các từ còn lại có phần gạch chân phát âm là /ai/ 

 

2. C 

Từ “guarantee” có phần gạch chân phát âm là /g/ 

Các từ còn lại có phần gạch chân phát âm là /ʤ/ 

 

3. C 

Từ “benefit” có trọng âm rơi vào âm tiết thứ nhất 

Các từ còn lại có trọng âm rơi vào âm tiết thứ ba 

 

4. D 

Từ “employment” có trọng âm rơi vào âm tiết thứ hai 

Các từ còn lại có trọng âm rơi vào âm tiết thứ nhất 

 

5. B 

Cấu trúc: S1 + would rather + that + S2 + V (past tense)  dùng trong câu cầu khiến 

Chữa lỗi: do not travel  didn’t travel 

Dịch câu: Tôi muốn họ không đi lại trong khi thời tiết xấu, nhưng họ khăng khăng rằng họ phải về nhà 

ngày hôm nay. 

 

6. A 

Dùng “whose” để thay thế cho dạng sở hữu cách của N chỉ người hoặc vật 

Chữa lỗi: of whom the  whose 

 

 

7. A 

Dựa vào trạng từ chỉ thời gian “in 1960”  câu chia ở thì QKĐ 
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Chữa lỗi: is made  was made 

Dịch câu: Tia laser đầu tiên được tạo ra bởi một nhà khoa học người Mỹ tên là Theodore người mà 

làm việc ở California vào năm 1960. 

 

8. A 

- to do sth by oneself: tự làm việc gì, không cần ai giúp đỡ 

- to do sth on one’s own: làm việc gì theo ý mình 

Dịch câu: Cậu bé đã tự mình làm bài tập về nhà. 

 

9. A 

- to be/ get used to + V-ing: quen với việc làm gì 

Dịch câu: Peter đã quá quen với việc nghe nhạc kịch đến nỗi mà nó đã trở thành một phần cố định 

trong cuộc đời của anh ấy. 

 

10. B 

Bày tỏ sự đồng ý với câu hỏi bắt đầu bằng “do/ would you mind…” một cách lịch sự  

 dùng “not at all” 

Dịch câu: Bạn có phiền nếu tôi sử dụng chiếc xe hơi của bạn một vài ngày không?” – “Ồ không phiền 

chút nào cả” 

 

11. D 

Sau chỗ trống là một V-ing  chỉ đáp án D dùng được 

Dùng “despite + N/ V-ing” để biểu thị sự trái ngược nhau về mặt logic giữa 2 mệnh đề 

Dịch câu: Mặc dù cảm thấy mệt, nhưng tôi vẫn đi dã ngoại với gia đình tôi. 

 

12. B 

- stress (n/v): sự căng thẳng, nhấn mạnh 

- stressful (adj): căng thẳng 

- stressed (V-ed) 

- stressing (V-ing) 

Chỗ trống cần một tính từ vì trước đó là động từ “to be”  chọn B 

Dịch câu: Việc chuẩn bị cho một cuộc phỏng vấn có thể rất căng thẳng. 

 

13. C 

need + V-ing = need to be + PII: cần được làm gì (nghĩa bị động) 

Dịch câu: Con dao này quá cùn. Nó cần được làm sắc. 

 

14. B 

“Not until” được đảo lên đầu câu  dạng đảo ngữ ; câu thuộc thì quá khứ “the end of 19
th

 century  

chia quá khứ đơn  chọn B 

Dịch câu: Mãi cho đến cuối thế kỉ 19 việc nhân giống cây mới trở thành một môn khoa học. 

 

15. C 

Thay thế cho N chỉ vật làm S  dùng “which”. Vì thay thế cho S nên theo sau phải là một V  chọn 

C 

Dịch câu: Con đường này, mà nối 2 ngôi làng, rất hẹp và quanh co. 
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16. C 

get sth done (by sb): (nhờ ai đó) làm điều gì 

Dịch câu: Tôi sẽ đi thuê giặt khô chiếc váy của mình. 

 

17. A 

Dùng thì HTHT diễn tả những hành động xảy ra trong QK, tiếp tục ở HT và có thể kéo dài ở TL  

Dịch câu: Cô ấy rất đãng trí: cô ấy đã mất điện thoại 3 lần rồi! 

 

18. C 

Có trạng từ “so far”  câu ở thì HTHT  chọn C 

Dịch câu: “Bạn đã đọc được bao nhiêu trang rồi?” – “Mười.” 

 

19. C 

get on well (with sb): có mối quan hệ tốt (với ai), hòa thuận (với ai) 

Dịch câu: Anh ấy không hạnh phúc vì bố mẹ anh ấy không hòa thuận với nhau. 

 

20. C 

Đáp lại một lời chúc mừng  dùng “Thank you” 

Dịch câu: “Cậu đã đỗ bài thi lái xe. Chúc mừng nhé!” – “Cảm ơn cậu!” 

 

21. B 

Đáp lại một lời cám ơn từ người khác  dùng “You’re welcome.” 

Dịch câu: “Cám ơn bạn rất nhiều vì đã chỉ cho tôi đường đến Hà Nội.” – “Không có gì.” 

 

22. A 

- busy (adj): bận rộn ~ hectic (adj) 

- eccentric (adj): kỳ dị 

- fanatic (adj): cuồng tín 

- prolific (adj): phong phú 

Dịch câu: Tuần cuối cùng của lớp học luôn luôn rất bận rộn vì học sinh sẽ tham gia thi cử, nộp đơn 

vào các trường đại học, và mở rộng thị thực của họ. 

23. D 

- drought (n): đợt hạn hán ~ aridity (n) 

- heat (n): sức nóng 

- harvest (n): mùa gặt  

- summer (n): mùa hè 

Dịch câu: Đợt hạn hán cuối cùng cũng kết thúc khi mùa thu đến mang theo những cơn mưa. 

 

24. B 

- dormant (adj): không hoạt động >< active (adj): hoạt động 

- clever (adj): thông minh 

- dreamy (adj): mơ mộng 

- invisible (adj): vô hình 

Dịch câu: Những núi lửa đã lâu không hoạt động dạo gần đây đang có dấu hiệu sẽ phun trào. 

 



 GV:  Nguyễn Quỳnh Trang 
   Facebook: 

www.facebook.com/lopcoquynhtrang 

 

 

 12 Để học offline với cô Trang gọi: 0942323701 

 

25. C 

- procrastinate (v): trì hoãn >< hurry (v): vội vã 

- lengthen (v): kéo dài 

- soothe (v): làm dịu 

- demolish (v): phá hủy 

Dịch câu: Tôi biết là tôi sẽ phải giải quyết vấn đề này một lúc nào đó – chỉ là tôi hoãn lại thôi. 

 

26. C 

Dịch đề: Đứa trẻ thời gian gần đây đã làm bố mẹ nó mất ngủ nhiều đêm. 

wake up sb/ wake sb up: đánh thức ai dậy 

Dịch câu: Đứa bé dạo gần đây thường đánh thức bố mẹ của nó. 

 

27. B 

Dịch đề: “Sao cậu không đi du lịch với bạn cậu?” cô ấy hỏi. 

wanted to know: muốn biết (dùng khi chuyển sang thể gián tiếp của câu hỏi có từ để hỏi) 

Khi chuyển sang gián tiếp  không đảo trợ động từ lên trước S và lùi 1 thì của động từ 

Dịch câu: Cô ấy muốn biết tại sao tôi không đi du lịch với bạn của tôi. 

 

28. A 

Dịch đề: Tôi chưa bao giờ nhìn thấy một tòa nhà đẹp hơn thế ở bất kỳ đâu. 

Chuyển sang dạng đảo ngữ, biến đổi “anywhere” thành “nowhere” và đưa về dạng khẳng định, đảo trợ 

động từ lên trước S 

Dịch câu: Không ở đâu khác tôi nhìn thấy một tòa nhà đẹp hơn thế. 

 

29. C 

Dịch đề: Nếu không vì sự bất cẩn của anh ấy, thì chúng ta đã hoàn thành công việc. 

Dịch câu: Nếu anh ấy cẩn thận hơn thì chúng ta đã hoàn thành công việc. 

 

30. C 

Dịch đề: “Anh dùng thuốc lá nhé?”, anh ấy hỏi. “Không, cảm ơn anh.” tôi nói. 

- offer sb sth: mời/đề nghị ai điều gì 

- decline (v): từ chối 

Dịch câu: Anh ấy mời tôi hút thuốc lá nhưng tôi từ chối một cách nhanh chóng. 

 

31. C 

- unprepared (adj): chưa sẵn sàng, không chuẩn bị trước 

- weak (adj): yếu 

- powerless (adj): bất lực, không có khả năng 

- hopeless (adj): vô vọng 

Dựa vào ngữ nghĩa của câu  chọn C 

 

32. A 

- the public (n): công chúng, cộng đồng 

- resident (n): dân cư 

- victim (n): nạn nhân 

- citizen (n): cư dân thành phố 
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Dựa vào ngữ nghĩa  chọn A 

 

33. D 

- develop (v): phát triển 

- happen (v): xảy ra 

- increase (v): tăng  

- thrive (v): phát đạt, phát triển 

Trong ngữ cảnh này  dùng “thrive” 

 

34. C 

- major (n): chính 

- peak (n): tột đỉnh, cao điểm, đỉnh cao nhất 

- maximum (n): tối đa 

- top (n): đỉnh 

 trong ngữ cảnh này ta dùng “peak” 

 

 

 

35. C 

- seizing (V-ing): tịch thu 

- awareness (n): sự nhận thức 

- reliance (n): sự tin cậy, lòng tin 

- taking (V-ing): mang đi 

Dựa vào ngữ nghĩa  chọn C phù hợp nhất 

 

36. A 

Đề: Theo bài đọc, tại sao Jacob lại viết cho Levi? 

A. Ông ấy không có đủ vốn để lấy một bằng sáng chế. 

B. Ông ấy không biết cách nộp đơn cho bằng sáng chế. 

C. Ông ấy không có ai để nhờ. 

D. Ông ấy biết Levi có các mối quan hệ tốt. 

Thông tin trong bài: “That's why he decided… hold the patent together” 

 Lí do Jacob viết cho Levi là vì ông ấy không có đủ vốn để lấy được bằng sáng chế  chọn A 

 

37. C 

Đề: Chủ đề nào dưới đâu tóm tắt đúng nhất nội dung của đoạn văn? 

A. Khởi đầu của một sự hợp tác thành công 

B. Lịch sử của quần jeans 

C. Quần jeans được phát minh như thế nào 

D. Cuộc sống của Levi Strauss và Jacob Davis 
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Chủ đề của bài đọc nằm ở 2 câu cuối: 

“That was the day blue jeans were born. Who would have thought back then that denim, thread and a 

little metal would become the most popular clothing product in the world and it's all thanks to two men 

- Levi Strauss and Jacob Davis.” 

Dịch: Đó là ngày mà quần bò xanh ra đời. Hồi đó chẳng ai có thể ngờ được rằng vải bò, chỉ và một ít 

kim loại rồi đây sẽ trở thành sản phẩm may mặc phổ biến nhất trên thế giới, và tất cả là nhờ có 2 người 

đàn ông - Levi Strauss và Jacob Davis. 

 

38. D 

Đề: Theo đoạn văn, điều gì đã xảy ra vào năm 1853? 

A. Levi thành lập một công ty với anh trai của ông ấy. 

B. Levi chuyển đến bờ biển phía tây. 

C. Levi trở thành một thương nhân thành công. 

D. Levi bắt đầu tự kinh doanh. 

Thông tin trong bài: “Back in 1853, at the age of 24, Levi Strauss opened a west coast branch of his 

brother's dry goods business in New York”  đáp án D đúng thông tin nhất. 

Dịch: năm 1853, ở độ tuổi 24, Levi Strauss đã mở một chi nhánh ở bờ biển phía tây theo như thương 

hiệu may mặc của anh trai ông ấy ở New York. 

 

39. C 

Đề: Điều gì đúng về Jacob Davis? 

A. Ông ấy là bạn của Levi. 

B. Ông ấy là khách hàng của Levi ở Latvia. 

C. Ông ấy là đối tác kinh doanh của Levi. 

D. Ông ấy là thợ may của Levi. 

Đáp án A không được đề cập đến 

Đáp án B, D sai thông tin “One of Levi's customers was a tailor by the name of Jacob Davis. 

Originally from Latvia, Jacob lived in Reno, Nevada…” 

 chọn C lấy thông tin “the two men …. Went into the business together” 

 

40. B 

Đề: Tại sao Jacob đặt những cái đinh tán lên những chiếc quần mà ông ta làm ra? 

A. Bởi vì khách hàng của ông ấy yêu cầu điều đó. 

B. Bởi vì ông muốn ngăn chặn thứ gì đó xảy ra. 

C. Bởi vì nó hợp thời trang. 
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D. Bởi vì ông ấy muốn làm thứ gì đó khác. 

Thông tin trong bài: “Jacob tried to find a way… at the base of the button fly.” 

 đáp án B đúng thông tin nhất. 

 

41. A 

Đề: Tại sao Levi chấp nhận lời đề nghị của Jacob? 

A. bởi vì ông ấy biết nó sẽ thành công 

B. bởi vì sự nghiệp của ông ấy đang gặp rắc rối 

C. bởi vì ông ấy đang mong muốn mở rộng sự kinh doanh của mình 

D. bởi vì Jacob là một khách hàng tốt 

Đáp án A đúng vì theo thông tin trong bài “Being the businessman that he was, Strauss agreed 

immediately seeing the potential for this new product” 

Dịch: là một thương gia, Strauss đồng ý ngay lập tức vì nhận thấy tiềm năng của sản phẩm mới này. 

pay off (v): có lợi nhuận, thành công 

 

42. A 

Đề: Vào năm 1873, Levi và Jacob ______. 

A. thành lập công ty đầu tiên của họ 

B. đăng ký được mã số bằng sáng chế 

C. làm ra quần jeans xanh đầu tiên 

D. có được những khách hàng đầu tiên 

Thông tin trong bài: “So, on May 20, 1873, the two men received patent number 139,121 from the US 

Patent and Trademark Office and went into business together.” 

Dịch: Vậy nên, vào ngày 20 tháng 5 năm 1873, 2 người đàn ông đã nhận được bằng sáng chế số 

139.121 từ Cục thương hiệu và bản quyền sáng chế Hoa Kỳ, và bắt đầu kinh doanh cùng nhau. 

43. C 

Đề: Theo đoạn văn, một thế kỷ trước ______. 

A. những người được giáo dục khắp châu Âu nói tiếng Anh 

B. những người đi du lịch đến nước Anh chỉ nói tiếng Pháp 

C. tiếng Pháp nổi tiếng hơn tiếng Anh nhiều 

D. chỉ tầng lớp thượng lưu Pháp có thể nói tiếng Anh 

Thông tin trong bài: “The language most commonly used between people of different nationalities, 

and particularly the aristocracy, was French”  chọn C 

Dịch: “thứ ngôn ngữ được sử dụng thông dụng giữa những người mang quốc tịch khác nhau, đặc biệt 

với tầng lớp thượng lưu là tiếng Pháp” 

 

44. C 

Đề: Điều gì có vai trò chính cho sự phát triển về số lượng người nói tiếng Anh? 

A. việc nước Anh trở thành một cường quốc kinh tế. 
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B. người Pháp mất thuộc địa. 

C. việc Mỹ trở nên lớn mạnh. 

D. sự phát triển của văn hóa Mỹ. 

Thông tin trong bài: “It is mainly due to America's rise to the position of major world power”. 

Dịch: điều đó gần như là nhờ sự tang trưởng tới vị thế quyền lực trên thế giới của nước Mỹ. 

45. D 

Đề: “the language of diplomacy” có ý là gì (đoạn 1)? 

A. Ngôn ngữ được sử dụng bởi những người bình thường. 

B. Ngôn ngữ được sử dụng bởi người Anh và người Pháp. 

C. Ngôn ngữ được sử dụng bởi tầng lớp quý tộc. 

D. Ngôn ngữ được sử dụng bởi chính phủ. 

language of diplomacy (n): ngôn ngữ ngoại giao  chọn D 

 

46. C 

Đề: Điều gì đúng theo như đoạn văn? 

A. Các chuyên gia không thích tiếng Esperanto. 

B. Esperanto khó để học. 

C. Esperanto không phải là một ngôn ngữ tự nhiên 

D. Esperanto đang trở nên ngày càng phổ biến. 

Thông tin trong bài: “Linguists have suggested "Esperanto", an artificially put-together language, as a 

solution to international communication problems but without success”. 

Dịch: các nhà ngôn ngữ học gợi ý “Esperanto”, ngôn ngữ nhân tạo kết hợp như một giải phpaps cho 

vấn đề giao tiếp quốc tế nhưng không thành công. 

 

 

47. A 

Đề: Quan điểm của các chuyên gia về sự mở rộng của tiếng Anh là ______. 

A. chia rẽ   B. lạc quan   C. bi quan   D. chưa quyết định 

Thông tin trong bài: “Language specialists seem to be divided over this issue.” 

Dịch: Các chuyên gia ngôn ngữ học có vẻ bị chia rẽ về vấn đề này. 

 

48. B 

Đề: Tác giả tin rằng ______. 

A. Tiếng Anh dễ học hơn tiếng Trung Quốc 

B. Tiếng Anh rồi sẽ được thay thế với tư cách mà một ngôn ngữ quốc tế 
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C. Tiếng Trung Quốc sẽ là ngôn ngữ giao tiếp quốc tế tiếp theo 

D. Tiếng Trung Quốc đang tăng về số lượng người sử dụng không phải là người bản địa 

Thông tin trong bài: “So, English will continue being the world language until some other language…” 

 đáp án B đúng 

Dịch: vì vậy, tiếng anh sẽ tiếp tục trở thành ngôn ngữ quốc tế cho tới khi các ngôn ngữ khác …. 

 

49. B 

Đề: Ngày nay, ______. 

A. Tiếng Pháp là ngôn ngữ ngoại giao 

B. nhiều người không phải bản xứ nói tiếng Anh hơn là người bản xứ 

C. nhiều người nói tiếng Pháp hơn là tiếng Anh 

D. Tiếng pháp đang dần chết đi 

Thông tin trong bài: “Today there are more people who speak English as a second language than 

people who speak it as a first language.” 

Dịch: ngày nay có nhiều người nói tiếng Anh như ngôn ngữ thứ hai hơn là những người nói nó như 

tiếng mẹ đẻ. 

 

50. B 

Đề: Đâu sẽ là tiêu đề phù hợp nhất cho bài đọc? 

A. Tiếng Anh; Quá khứ, Hiện tại và Tương lai 

B. Tiếng Anh như một ngôn ngữ quốc tế 

C. Tiếng Anh có nghĩa là văn hóa Anh 

D. Tiếng Anh: một ngôn ngữ khó để học được 

 Toàn bộ đoạn văn nói về vị thế của tiếng Anh như một loại ngôn ngữ quốc tế.  chọn B 


